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24151 Quiz #4 - October 6, 2015, 10 a.m.
1. Use implicit differentiation to find g—; and g—f when a? + 2y? + ¥ =,
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2. State Clairaut’s theorem.
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24151 Quiz #4 - October 6, 2015, 10 a.m.

1. Use implicit differentiation to find % and % when 22 + 232 4+ 32% = 1.

2. State Clairaut’s theorem.




e SOLLTINS

24153 Quiz #4 - October 8, 2015, 10 a.m.
L If z = f(z,y) = 2® + 32y — y* find the differential dz. N + ?
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2. Let f(x,y) = 2%e¥. Find the linearization of f(z,y) at the point .(1,0) { [ // % / B /
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24153 Quiz #4 - October 8, 2015, 10 a.m.
L If 2= f(w,y) = 2® + 3zy — y* find the differential dz.

2. Let f(z,y) = 22¢¥. Find the linearization of f (x,y) at the point .(1,0)




e SOLTIHYS

24152 Quiz #4 - October 8, 2015, 11 a.m.
1. Find the equation of the tangent plane to the graph of z = 3z% + 2y at the point(1,1,5).
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2. Find the intersection of this tangent plane with the line 7(t) = (¢, + 1, 2t + 2).
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Name:
24152 Quiz #4 - October 8, 2015, 11 a.m.
1. Find the equation of the tangent plane to the graph of z = 32 + 2y at the point(1, 1, 5).

2. Find the intersection of this tangent plane with the line #(t) = (¢, + 1, 2t + 2).




